Enlarge Shape by a scale factor of 3
using the origin as the centre of
enlargement (C of E).

1. Mark the C of E on your diagram.
2. Mark a point on your shape.
3. Write down the vector which moves
. 2
the C of E to your chosen point (1)
4. Multiply your vector by the scale factor
D=0
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5. Apply your vector FROM the C of E

6. Plot new point and draw in rest of shape
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6. Plot new point and draw in rest of shape
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Enlarge Shape by a scale factor of 3
using (10, 1) as the centre of
enlargement (C of E).

1. Mark the C of E on your diagram.
2. Mark a point on your shape.
3. Write down the vector which moves
. -2
the C of E to your chosen point ( 1 )
4. Multiply your vector by the scale factor
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5. Apply your vector FROM the C of E

6. Plot new point and draw in rest of shape

Enlarge Shape by a scale factor of 2 1
using (12, 10) as the centre of
enlargement (C of E).

1. Mark the C of E on your diagram.

2. Mark a point on your shape.

3. Write down the vector which moves

the C of E to your chosen point ()

4. Multiply your vector by the scale factor
2x(1) = ()

5. Apply your vector FROM the C of E
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6. Plot new point and draw in rest of shape
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Backward faded maths - Enlargement Positive Integer Scale Factor




